A078-UG BCO-31

U.G. DEGREE EXAMINATION —
SEPTEMBER 2020

COMMERCE
THIRD YEAR
COST ACCOUNTING

Time : 3 Hours Maximum Marks : 75

SECTION A — (3 x 5 = 15 Marks)
Answer any THREE questions.

1.  What are the objectives of Cost Accounting?

SlL&sene saumadlweadlen Chrésniger Wrene?

2.  State the advantages of perpetual invent any
system.

Blenew  Qumrmer @@Ly wpemuden  HeenLosEaT

GINICES
3. Prepare cost sheet :
Rs.
Opening stock of raw materials 5,000
Purchase of raw materials 55,000

Closing stock of raw materials 10,000

Direct Wages 30,000
Factory Overheads 40,000
Office Overheads 20,000

SL&sellened UL iquwied swrilés :



<7 epeoLiClLim(mer 5,000
epeLIGummeT GEmemLpgen 55,000
Qudl epaliGummar @iy 10,000
Cprig & sacl) 30,000

Gsriinsreney Copsbsoaysear 40,000

SiIeUs CHFtlFawe,ser 20,000
Normal usage 600 units per week
Maximum usage 900 units per week
Minimum usage 300 units per week
Re-order period 2 to 4 weeks

Calculate Average stock level.
@uieoumer LiweTU(HSHW A @GSH6T g euTrsHm@ 600
SFlsul g LweaTLHSH W S@GEET e aurrsSna@ 900

GONHSLILE LweTUhSH W DG SET (1
aurrsdne 300
LOMI <,ENET HTELD 2 (PG 4 GUTTBISET

gyngtl FradmUdlen ojemanel sarddl (Hs.

What are the features of standard costing?

S L& semrsdlwedlem @O SET Wreneu?

2 A078-UG



SECTION B — (4 x 15 = 60 Marks)

Answer any FOUR questions.

Distinguish  between Cost Accounting and

financial Accounting.

SLssMane samsslie) bOMmD HHE  sarsdlue
Caumu(h5gis.

Explain the methods of Issue of Materials.

FT&HGHSET QUPEISLILI(HLD (LPENDEENET 6l6Ts &58.

order.
Jan 1

Jan 4
Jan 5
Jan 10
Jan 15
Jan 20
Jan 25

‘S’ Ltd. purchased and issued the materials on the

Purchased 600 units @ Rs. 5 per unit
Purchased 1200 units @ Rs. 6 per unit
Issued 100 units

Purchased 700 units @ Rs. 6 per unit
Issued 800 units

Purchased 300 units @ Rs. 7 per unit
Issued 100 units

Prepare stores ledger under FIFO method.

S Blmeuarnd epeoliCurmer  QEraTipsD  HMID
Qeuaflui@.

manaul 1
manaul 4
maraufl 5
manaufl 10
manaufl 15
maraufl20
maraufl 25

FIFO

Qamerpse 600 S Es6T geubleumm @D ¢b. 5
Qamerpse 1200 S @s6T geuCeum(h S @ p. 6
Qauaflui® 1000 e @s6r

Qamerpse 700 S @Es6r geubleumm @D ¢b. 6
Qauafui® 800 e @ser

Qamerpse 300 e Es6Tr geubleumm @b ep. 7
Qauafui® 100 S @ser

wepuller  sradmly  CuGrl® sarsams

sWrfl&Esa]Lb.
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10.

From the following particulars, find out Labour
cost per day of 8 hours.

(a)
(b)
(0
(d)
(e)

®

&

Basic Pay Rs. 200 p.m.
Leave Pay 5%

Employers contribution to P.F. 8% of
(a and b)

Employers contribution to ESI 2.5% of
(a and b)

Prorate amenities Rs. 17.95 per head per
month

Working Hours in a month — 200.

Sefiggierer efugmisamer  Caremp 2 UL

SlL&ssdenen BreT e H@, (8 wanfl) sauradl (Hs.

SlgliuenL sardlwid em. 200 p.m.
el oardluid 5%

PF. -&g vl oeflveflear ukseaflliiy 8%
(<t oHMID <2,

ESI -&@ uefl wefuuefler uksefliy 2.5%
(<t pmIDd 24)

@&r ausdlaar ep. 17.95 wrsb eerdlna

vanfl Crirb e LrssSHnHE — 200.

Explain the advantages and disadvantages of
operating costing.

Qeweour’ () SLgseillaneuiler BaTepDEET — OHMID
GSODUT(HEENET 6Alemd:@s.
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11.

12.

The following information relating to XY & Co. for
2006.

Rs.
Sales 20,000
Variable Costs 10,000
Fixed Costs 6,000
Find out :
(a) PVR

(b) Break even point
(¢) Margin of safety at the current sales level.

2006 - gam@hssrer XY & Co. —eflem elluipmiger
QasrR&sUILIL (DeTeTe.

€.
o Huene 20,000
LTMI AL sgelene 10,000
& QFwe|ser 6,000
SaTSHSH (H :

(=) PVR &dlgibd
(<) &flgw yarefl
(@) snGuramgw ellhLemaTuied LITEISTLIL| 6Te.

Describe the features of Process Costing.

Ligibleney semnTédluiciien @uidL|semer afleuil.
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A079-UG BBCA-32

B.Com. DEGREE EXAMINATION -SEPTEMBER 2020
COMMERCE
THIRD YEAR
COMMERCIAL LAW AND INDUSTRIAL LAW

Time : 3 Hours Maximum Marks : 75
PART A — (3 x 5 =15 Marks)
Answer any THREE questions.

1. When do you think a contract is said to be performed?
Explain.
@UuBsSD  CdFwudumssulLgrs  lCurg  smESUUGLL?
cHleTd@s.

2. Differentiate bailment and pledge.
@uUDS wHmibd FLEDS CaupuBssis.

3. What are the rights and duties of a seller?
aflpuenenurearflen 2 flenoseT LHMID SL_EDEET WITene. ?

4.  Write about the provisions relating to health under
Factories Act 1948.
Qamfiberene L ib 1948-a paoer @Ghss elFlpenmaaner
T(LPS)5.

5. What are the powers of committees coming under the
Industrial Disputes Act 1947 and what are their duties?
Qamiflvgienm Comrged gL i1d 1947 -6 L. @pelilen SiSlsTrmbiser
LOMHMILD &SL_EDLOSET WITen6u ?



10.

11.

12.

PART B — (4 x 15 = 60 Marks)
Answer any FOUR questions.

Explain the essentials of a wvalid contract under the
Contract Act.

@UUBS 5L SSlemulg eliLibgsSlen Coamouam 6leré@s.

Describe the conceptual differences between contract of
indemnity and contract of guarantee.

@uulSlypEb wHnb 2 SHraurssdpeEn Cuwrareiled o erer
sHswrsmisener LHDH — efleuflEseib.

Discuss the steps in the formation of contract of Sale.
ellhuener eliLibsSSlen Lilgblancseanar elleurl.

Explain how the safety and welfare of employees taken
care of under the Factories Act 1948.

Qarinsrened st 1b 19486 Lilq LIMgISTUIL] OOHMILD Liewtlwment

B 6GTELAUMM LITEISTESILIHSMG] eTarLiens alemd@s.

How do you think compensation is calculated for
workmen and their dependants in  Workmen’s
Compensation Act 19237

vemflwmert  FL(m$ slrd  1923-er wg  ueefl  BUy
FTHSeU(HEE FL(Hmd ereueurm sewréslLiuHEng)?

Discuss the provisions of Factories Act 1948 relating to
the working hours of workers.

Qamfiberened &L b 1948-ew Lig wewflwmrerfen Lenfl Criyn
G@Mss eldsamer cllauil.

Elaborate on the steps in the creation of Contract of
Agency.

@UUBS a2 (HeursGsdler LOCeam Uigblanesaer
cfleuflés.
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A080-UG BCO-33

B.Com. DEGREE EXAMINATION —
SEPTEMBER 2020

COMMERCE
THIRD YEAR
ADVANCED ACCOUNTING
Time : 3 Hours Maximum Marks : 75
PART A — (3 x 5 = 15 Marks)

Answer any THREE questions.

1. What are the salient features of partnership?

gl Lamenouldlern SmUlAwedLSenerd damis.

2. Who are preferential creditors?

areflennd sLetbCSTT eramiiLi(Biueui wirr?
3.  Write a short notes on :

(a) Sinking fund

(b) Capital redemption reserve.

GOILY euenys :

(<) sylel Bl

(<)) epeger B L& sTiL.



From the following particulars calculate the value
equity share.

75,000 equity shares of Rs. 10 each. Rs. 8 per
share paid up Rs. 6,00,000. Profit available for
equity dividend (after tax) Rs. 72,000. Normal rate
of earnings 10%.

&G Qar@ssiiul(Herar eleurmisailelBbg Lkidler
WFIMLS STewTs :

em. 10 mﬁuqdmﬁ, 75,000 grgrrewrl LBI@GS6ET h. 8
Qessliui_(herar ep. 6,00,000. (eufls@l banguw)
UBISTSTWSSH D@ 2 6rter @eorud em. 72,000. srgmyemt
@aru FrL(h efldlsd 10%.

What are the objectives of Social Responsibility
Accounting?

Fupgmw QurmitiLg seréslwaedler CrrEsmisE Wrenel?
PART B — (4 x 15 = 60 Marks)
Answer any FOUR questions.

From the following details calculate profit before
and after incorporation.

(a) Time ratio3:4

(b) Salesratio2:3

(¢) Gross profit Rs. 5,00,000
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(d) Expenses.

Rs.
Salary 96,000
Discount 40,000
Rent 15,000

General expenses 12,000
Advertisements 50,000
Director fees 18,000

EpSaanTL Meurmsafledmbg) Hmeued
CorpmeliusnE wen  wHmbd  Gar  sremsad
Qeorusmss ST DS :

(o1) s g 3 : 4

(=) elhuemer elldlsd 2 : 3

(@) Qwrss @erulb en. 500,000

(

) OFeveysar.

€.
FLDLIGTLD 96,000
SOT(EHLILg 40,000
QUL 60 15,000
QurgF Agwaser 12,000
eflemburLd 50,000

Qus@pr sl Lewd 18,000
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Calculate the amount of goodwill on the basis of
3 years purchase of five years average profits. The
profit for the last five years.

1994 — Rs. 2,400, 1995 — Rs. 3,000, 1996 -
Rs. 3,400, 1997 — Rs. 3,200, 1998 — Rs. 4,000.

poCuwfler  wdleu  eparmrar(  GaTeTpseD
SlgliueLuded  gmBg  Ja@THEEREETET  FYTSH
Qorusmss SaTES(Hs. SLbS @b Aam(hserlen
@arud pennGuw

1994 — om. 2,400, 1995 — ¢ 3,000, 1996 -
em. 3,400, 1997 — em. 3,200, 1998 — ¢r. 4,000.

How are the following items treated in Bank Final
Accounts?

(a) Bad debt

(b) Reserve for bad debts

(¢) Provision for taxation.

aundl @mds samsdld YemelHD @ETBISGET 6THRIBIGTD
ST A&EEL (HEleTmes?

() aumprEsEsL6om

(<)) BUWSSHL6T STLIL

(@) afl @g1&80.
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9.

Following is the Balance Sheet of K Ltd. as on

31.12.1990.

Liabilities Rs. Assets Rs.
2,000 shares of Goodwill 4,000
Rs. 10 each Fixed assets 16,500
fully paid 20,000 Current
Profit and Loss a/c 7,000 assets 19,500
Debentures 10,000
Creditors 3,000

40,000 40,000

R Limited agreed to take over the assets of K Ltd.
(exclusive of one fixed asset of Rs. 4,000 and cash
Rs. 1,000 included in current assets) at 10% more
than the book wvalue. It agreed to take over
creditors also. The purchase price was to be
discharged by the issue of 2,000 shares of Rs. 10
each at the market value of Rs. 15 each and the
balance in each. Liquidation expenses came to
Rs. 400.

K Ltd. sold the fixed assets of Rs. 4,000 and
realized the book value. It paid off its debentures
and liquidation expenses.

You are required to give the Journal entries in the
books of K Ltd. and R Ltd.
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31.12.1990-y,1b BTENGTIL K SOOIl 1.6
@ muLblenevd @il WereumLomm) :

Qurmiyser 1. Qarsgisaer €.
2000 umigsar . 10 BOHGLIWIT 4,000
aisLD (Lp(PeugILD Hleneod

QegudsLILL L a6y 20,000 Qsrsgisser 16,500
@eru BLL & Sars S, 7,000 pLLULE
sLall (U ugdrmsdr 10,000 Qerggéser 19,500
SLTBCHTTHET 3,000

40,000 40,000

R AWQLL K QL qer Cardgissamer or(hdgid
Qarerer elis GaramLgl. (ep. 4,000 wdlliLerer e
Blenaw&argg) womibd pLLiLg Cerggissate Carbglearer
Qrrésbd ep. 1,000 — @rawenLwb s6dT) Sisreug) el (
wdlliemu efl 10% 9 wiHike a(hssd Careamg).
SLATBCHTTEMETLD T (H&EISCsTeTer QUG
QarenrLgl. Gareripge alewewsdsts . 10 wdllierer
2,000 um@smer (sbeng wLHIY ep 15 eisb)
aupmiSlyd wHmb BHE QFrenssE QrrEspb aupkIs
Wpigey QFISE. sameliLF tFwa|ser ep. 400.

K a0Q_ em. 4,000 wgllierer Blenawd CQamsgssamar
gL wHIGHCs llbm LeaTorsSWg). )8 SeraienL W
sLal_ (U usHrhsmanybd semoliLE CFwasamanybd
sCar QeausHwgl. K 6 wpmid R 608Gl 1q.66m
ghsaie Beli Comeuwrer @HUGUL O udleysmarnd
S[HS.
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10.

11.

12.

Explain the difference between Amalgamation and
Absorption.

Blmw  gems  Gerly  womd  mrly  @eumdleaner
Caumu(©sS ellars@s.

The following balance are extracted from the
books of AB Life Insurance Corporation.

Life insurance fund as on 3 1.3.2006 — 1,600 lakh
Net liabilities as per valuation — 1,200 lakh
Interim bonus paid — 150 lakh

You are required to show the valuation Balance
Sheet as on 31.03.2006.

Quer  sTUSL(HE  spssHar QUL eSeuhiser
emmeu(mLomm) :

31.3.2006-@earg  ujer sriuSi@ By - 1,600
@el b

Blar Qurmligser wd S iy emug — 1,200 el &b
26158550 FTens SjamssulLg — 150 el &b
31.3.2006-@amug wHUSH QmdHlae Ghlilamer
swimil.

State the advantages of Computerized Accounting.

sell@ILWLIGSIUL L. SarsSleien  baTennsEemaT

Sleufl.
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A081-UG BCO-34

B.Com. DEGREE EXAMINATION —
SEPTEMBER 2020

COMMERCE
THIRD YEAR
AUDITING
Time : 3 Hours Maximum Marks : 75
PART A — (3 x 5 =15 Marks)
Answer any THREE questions.

1. What are the qualities of an auditor?
g,mﬂé;ma;u_l TeT(H& & ng,m@_lu_lrr@rr (&G HEETSHET UITENE ?
2. Difference between commercial audit and
government audit.
STES SWEMESGLD cuamllas salsmasELh 2 6rer
Caumuir(haeT wreneu ?
3. Explain the audit procedure of prepaid expenses.

wperersrs  Qelwliul L Cgweyseflear  sanflsans
BEDL_(LPENDEHENET 6516 &.



What is meant by secret reserves and what are the
objects of creating secret reserves?

@raflus  sTULSET  eTeaiDmeL  eTemen?  @rsSws
STULSEET 2_(heUTH@HeuSen CHTEEBISET LITEneU ?
Define investigation? What are the features of
investigation?

yoarmle] — oleufl. yeemieler &pliubanisar

wmeneu ?

PART B — (4 x 15 = 60 Marks)
Answer any FOUR questions.

Explain the object of audit.

sewtlGanguilen CHTaEsmIsET alemd@s.

Explain the vouching procedure of petty cash
book.

Aowery  Qrrés  gluer JFMEHL (DS sallsEms
BepL_(penm eleTdEs.

Explain any five methods of depreciation.
CaWiorand sanrésl L LD Bbgl (PamEmer al6md@s.
Explain the rules of appointment and
reappointment of an auditor.

sewlgangwrarflen Blwweard wOHML M Hlwberd
el Slaener aflemd@s.
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10.

11.

12.

Whose names can be registered in the council
register?

wrmerlw  Quwirsener  spsl  uSHCeuliger USle]

Qeliwerbd?

What are the special techniques of auditing in
EDP environment?

e gm Qadls @iyl uger pepm &Hm @ Lpadler
sewtlGangudluied [ LBISET WTened?

Write short notes on :

(a) Issue of debentures at a premium

(b) Issue of debentures at a discount

(¢) Issue of debentures as collateral security.

S @OlY euenrs :

(=1) sLan ugdrmsmer AFSlLgSH D Qeuaiud(BHge
(=) sLan ugdlrmigeamer saT@EhLg Ul Cleuetudl(Hge

(@) sLear usdrhsmer gl  AeeRTwors
QeueflulHged.
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